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(1) ) S g8 il g S Al ¢ iaall (p)

The extra electron in the sulfur is paired with the single electron in the first (3p) orbit
to form a pair of electrons. Coupling an electron with another and forming a pair of
electrons results in a repulsion between the two electrons in the same sphere, which
reduces the energy required to remove the electron, therefore, sulfur has less first

ionization energy value than phosphorous (the sub-level (p) that is half filled with
electrons is more stable)

— The reaction No.(1) (1) ad Jelih -1 @
daal g da o

Silver bromide dadl) a9 g1 AgBr
Baal g da The precipitate dissolve el ) Gigds -2

1.z
i g da 3 2,5-dimethylpheneol Jdoid Jisa AL 52 ]
——— (7-phenyl-1-heptene) i -1-J:8-7 i
-2
Olia OH + KOH — OK + H,0
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Complex (1) in which the molecular geometry (tetrahedron) coincides with the
geometric shape of the electron field because all the electronic fields around
the central atom are related <« Whereas compound (2) has the molecular
geometry (curved) that differs from the geometric shape of the electron field
(flat triangle) due to the presence of lone pair of electrons around the central

atom.
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The number of lost electrons Sub-level from which electrons lost first
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The number of lost electrons | Sub-level from which electrons lost second

1 3d
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Explanation: because it is the least energy and the most stable, since the (d) orbitals are
completely filled with electrons and the (s) orbital is half filled, which gives the electronic
configuration of the element atom the lowest energy.
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Because the differences in energy between the orbital (s) and the orbital (d) is small in the
transitional elements so that electrons lose from 4s sub- shell first and then 3d sub- shell.
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